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FIRAEE (A)
#5t:1,518A FH5:1,225A kBt : 293 A

EEECEECEECE
9H 113 17 130

104 313 127 440
11H 335 72 407
12H 464 77 541

BEFIREE (A/H)
#5t (98HME) :15.49A/H ¥H:t (67HR) : 18. 28L/E #85t (318R[E) :9.45A/H

e B8 5
€] (E) @b :

22.60 17.00 6 21.67
10H 21 14.90 10 12.70 31 14.19
11H 20 16.75 10 7.20 30 13.57
12H 21 22.10 10 7.70 31 17.45

EEFIREL (A/E)
#5t (915.5[E]) :1.66A/fE FHE (636.5m) : 1. 92L/E #B85t (279[E) : 1.05A/{#

47.5 2.38 1.89 56.5 2.30 FEHI9E x HE + 318 (2)

ARE18E x BE + F1E (2)
10H 199.5 2.21 90 1.41 289.5 1.52
11H 190 1.76 90 0.80 280.0 1.45
12H 199.5 2.33 90 0.86 289.5 1.86
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